Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remain

50, will be treated as malpractice.

ing blank pages.

42+8

2. Any revealing of identification, appeal to evaluator and /or equations written eg,

S ———
-, nae,
Q\U\gn fin, P

USN 10ME71

Engineering Ecot
) @
i ®
Time: 3 hrs. . %ﬁ Max. Marks:100
Note: 1. Answer any FI VE jﬁ%uestmns, selecting.
at least TWO questions from each part. %
2. Use of dtscreté‘?% est factor table is a?lm”ved
3. Assume an@af"smg data suitably.
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1 a. Discuss why engineers have Jd{-sg l‘i‘dy economics. (10 Marks)
b. Differentiate between tactics }@d strategies give an. 1llustr@t10n (10 Marks)

4
2 a. State and explain any,fi; N@ondltlons for present Worth comparison. (10 Marks)

b. A precision machiningscomponent manufacturmompany wants to expand its operation.
For this purpose: qf as decided to add a CNC méchine. One of the followmg two machme is
to be selected Ya xclusively on future, Wgith method of comparison:

Machine usgfullife = 4 years
: 2% .
o W M, M,
itial cost (Rs.) ﬁ@ 4,004000 | 8,00,000
vage value at the end g‘fﬁfe period (Rs.) | 2,603000 | 5,50,000
Annual maintenance cost (Rs.) 40,000 Nil,«ég;

Which of the above machine M;, M, to be sele ‘ted

(1¢ Marks)

3 a. What is sinking fund? %am its concept @fpﬁxlosophy r ? (10 Marks)
b. Jyothy Industr1e§;as dfonmdermg to purch s%“éi semi- automzﬁeﬁ weldmg machine for one of

its export orde n estimated initjal st of Rs.85,000% M@r a service life of 5 years its
salvage value% timated to be Rs %@0 Maintenance and operating costs are expected to

be Rs.8000 for ‘the first year of Speration which m;rc%eses by Rs.1500 per every year of
addltlogﬂ‘use Determine wl@?nnual saving gnu’%‘ta be obtained through the use of this
equlgggyto make the pdrchase of this equ ent economically justifiable. Consider

inter te of 10%. P (10 Marks)
P P
4 hat is depreciation? 1@1 and briefly e the causes. (10 Marks)
A'CNC machineaé ts Rs.30,00,000. It ce life is 8 years and its salvage value after 8
years is Rs.2, 50 000, Find: 4
i) Deprec nfiind at the endf fifth year by fixed percentage method and declining
balan: 1;hod
if) Book'valite of the machine aftér 4™ year by declining balance method.
iii) Book value after 6™ ‘ar by declining balance method. (10 Marks)
PART - B
5 a. What is selling prlce?,@How selling price for a component is fixed? Explain its components.

% (10 Marks)

b. Find the fact ost of a forged hammer made from solid cast iron press of circular cross

section of 30 n;fdla and 160 mm length. Time taken to forge is 150 min and labour cost is

Rs. 22/hour (rate). Factory overheads are 40% of direct labour cost, material cost of cast iron

is Rs. 12{kg Density of cast iron = 6.8 gm/cm’. (10 Marks)
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What is balance sheet? Explain its importance. Prepare an 1lIustrat1ve balance sheet showing

different accounts (model balance sheet). (10 Marks)

What are the sources of financial information? Brleﬂy e,_ plain any of the two. (10 Marks)
fjfi}’l

List and explain different types of financial rati(:)s.,f’brieﬂy. (10 Marks)

What are the advantages and limitations of ratio analysis? (10 Marks)

What is profit pianning? What are the,objectives? (10 Marks)

What are the types of budgets? Explain. (10 Marks)
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